加加減減
以下的算式遺漏了一些加減運算符號，試試在適當的位置加入「+」、「-」運算符號以使算式正確：
	題1.
	( a  b ) + ( a  b ) = -2a+2b

	
	- ( -a  b ) + ( a + b ) = 0

	
	( a  b ) + ( a  b ) = 2a-2b

	
	(-a + b )  (-a  b ) = 2b


	題2
	( 2a  b ) + (-a  b )= -3a+2b

	
	 (-2a - b )  (-a  b ) = -a

	
	 (-2a  b ) - (-a  b ) = 3a-2b

	
	 (-2a  b )  (-a  b ) = -a+2b


	題3.
	( 3a  b ) + ( a  2b ) = 4a+3b

	
	( 3a  b )  ( a - 2b ) = 2a+b

	
	( 3a - b ) - ( a - 2b ) = -2a+b

	
	-( 3a  b )  (-a -2 b ) = 2a-b


	題4.
	( 2a + 3b )  ( 4a + 2b ) = -6a+5b

	
	-( 2a - 3b ) - ( 4a  2b ) = -2a-b

	
	(-2a  3b ) - ( 4a -2b ) = 2a-b

	
	( 2a  3b ) + ( 4a - 2b ) = 2a+b


加加減減（答案）
以下的算式遺漏了一些加減運算符號，試試在適當的位置加入「+」、「-」運算符號以使算式正確：
	題1.
	(-a + b ) + (-a + b ) = -2a+2b

	
	- (-a + b ) + (-a + b ) = 0

	
	(a - b ) + (a - b ) = 2a-2b

	
	(-a + b ) - (-a - b ) = 2b


	題2
	(-2a + b ) + (-a + b )= -3a+2b

	
	 (-2a - b ) - (-a - b ) = -a

	
	- (-2a + b ) - (-a + b ) = 3a-2b

	
	 (-2a + b ) - (-a - b ) = -a+2b


	題3.
	( 3a + b ) + ( a + 2b ) = 4a+3b

	
	( 3a - b ) - (-a - 2b ) = 2a+b

	
	(-3a - b )- (-a - 2b ) = -2a+b

	
	-(-3a - b ) + (-a -2b ) = 2a-b


	題4.
	(-2a + 3b ) + (-4a + 2b) = -6a+5b

	
	(-2a - 3b ) - (-4a - 2b ) = -2a-b

	
	(-2a - 3b ) - (-4a -2b ) = 2a-b

	
	-( 2a - 3b ) + (4a - 2b ) = 2a+b


